OBJ 13 Study Guide-Biodiversity
Multiple Choice
Identify the choice that best completes the statement or answers the question.
____
1.
The environment in the Arctic Circle is extreme,  and food chains and food webs there are very fragile.

Which statement describes a possible consequence if biodiversity were to decrease in the Arctic due to the extinction of polar bears?

	a.
	a decrease in the number of herbivores due to natural predators being gone

	b.
	an increase in the number of producers after a herbivore population boom

	c.
	changes in the food web, leading to a loss of food resources for native people


____
2.
Fertilizers containing phosphorous and nitrogen are leached into a pond. The nutrients from the fertilizer cause algae colonies in the pond to grow rapidly. As large quantities of algae die, the pond water becomes depleted of oxygen. 

What most likely will be the effect on the organisms that live in this pond due to this algae growth?

	a.
	The water will become more clear.

	b.
	 The depth of the pond will increase.

	c.
	There will be less biodiversity in the pond.


____
3.
Sometimes laws are passed to protect certain areas in order to maintain biodiversity. This helps preserve the unique characteristics of the organisms that live there. Sometimes land is preserved in several smaller patches that are spread out instead of one large area. 

Which types of organisms will most likely become endangered if land preserves are spread out in patches?

	a.
	organisms that need a lot of space to graze 

	b.
	organisms that burrow underground

	c.
	organisms that hibernate in winter


____
4.
Human activities can alter ecosystems and result in the extinction of species. 

Which action described below IS NOT an example of an activity that would reduce biodiversity. 

	a.
	Releasing a non-native species into a fragile ecosystem like a wetland area

	b.
	Assuring that habitats are protected and remain unaltered as much as possible

	c.
	Disrupting food webs by pouring toxic compounds into rivers and lakes (water pollution)


____
5.
Human activities such as road building and home construction often destroy wildlife habitats.

For example, the clear-cutting of forests due to urban development will most likely result in...?

	a.
	decreased forest biodiversity.

	b.
	increased organism diversity.

	c.
	decreased urban populations.


____
6.
90% of the world’s crops for humans comes from only 20 different plant species. (Corn, Wheat, Rice, Soybeans, Potatoes, Tomatoes, Apples, Oranges, Melons, etc ) In other words, the biodiversity for our crops is low. 

Why is this a problem?

	a.
	This is a problem because we need to consume calcium to make our bones strong.

	b.
	With the variety of food sources we have available, many people are overweight.

	c.
	If a disease wipes out one or more of these plants, there could be widespread food shortages.


__
____
7.
When ocean temperatures, salt levels, and nutrients reach certain levels, it causes a type of red-colored algae to spread across the surface of the water. This is known as a red tide. During a red tide, these algae reproduce very rapidly and consume most of the nutrients in the water. 

What would most likely be a consequence of a red tide bloom along the coast of California?

	a.
	The biodiversity in that part of the ocean will decrease.

	b.
	The water will become more clear and less salty.

	c.
	Sea kelp will reproduce more rapidly in that part of the ocean.



____
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